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. mi set mlong 

 

. mi register imputed alco enerkcal 

 

. mi impute mvn alco enerkcal= sex lngd utbildning13 rkarenu motion , 

add(10) force 

 

 

Multivariate imputation                 Imputations =       10 

Multivariate normal regression                added =       10 

Imputed: m=1 through m=10                   updated =        0 

 

Prior: uniform                           Iterations =     1000 

                                            burn-in =      100 

                                            between =      100 

 

               |              Observations per m               

               |---------------------------------------------- 

      Variable |   complete   incomplete   imputed |     total 

---------------+-----------------------------------+---------- 

          alco |        861          155       149 |      1016 

      enerkcal |        861          155       149 |      1016 

-------------------------------------------------------------- 

mi estimate:reg fett_total triglycerider sex lngd lean_total utbildning13 rkarenu 

/// 

motion alco enerkcal 

 

Multiple-imputation estimates                     Imputations     =         10 

Linear regression                                 Number of obs   =        853 

                                                  Average RVI     =     0.0235 

                                                  Complete DF     =        843 

DF adjustment:   Small sample                     DF:     min     =     417.67 

                                                          avg     =     752.99 

                                                          max     =     838.05 

Model F test:       Equal FMI                     F(   9,  835.0) =      35.66 

Within VCE type:          OLS                     Prob > F        =     0.0000 

 

------------------------------------------------------------------------------ 

  fett_total |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval] 

-------------+---------------------------------------------------------------- 

triglyceri~r |   1802.268   446.9521     4.03   0.000     924.9911    2679.545 

         sex |   12802.37   965.1027    13.27   0.000     10908.07    14696.68 

        lngd |  -93.53042   52.17065    -1.79   0.073    -195.9328    8.871916 

  lean_total |   .6557334   .0525573    12.48   0.000     .5525726    .7588941 

utbildning13 |  -500.1956   327.0741    -1.53   0.127    -1142.185    141.7936 

     rkarenu |   -2030.15   890.2903    -2.28   0.023     -3777.63   -282.6694 

      motion |  -965.2026   359.1317    -2.69   0.007    -1670.108   -260.2974 

        alco |   44.99134   96.23237     0.47   0.640    -144.1688    234.1515 

    enerkcal |  -2.807086   .6013229    -4.67   0.000    -3.988875   -1.625298 

       _cons |   9744.315   8127.572     1.20   0.231    -6208.543    25697.17 
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 Rate (per 1 000 pyar) 95 % CI undre 95 % CI övre 

” ”

. tabrate all agep, e(y) 

. table of cases (D), person-years (Y), and rates per 1000 person-years 

 

------------------------------------------------------------------ 

       agep  |    _D         _Y      _rate     Ci_low     Ci_high 

-------------+---------------------------------------------------- 

          1  |    46     9774.8      4.706      3.525      6.283 

          2  |   111    15057.3      7.372      6.120      8.879 

          3  |   160    12335.9     12.970     11.109     15.144 

          4  |   250    10771.5     23.209     20.504     26.272 

          5  |   276     6919.2     39.889     35.450     44.884 

 

Cisq test for unequal rates = 453.41 (df, p = 0.000) 

------------------------------------------------------------------ 

” ” ” ”
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Mhrate all grade, e(y) by (agep) 

Maximum likelihood estimate of the rate ratio 

Comparing grade = 2 vs grade = 1 by agep 

 

RR estimate, lower and upper 95% confidence limits, 

and chi-squared test for RR = 1 (dgree of freedom) 
------------------------------------------------------------------ 

   agep  |     RR    Lower      Upper     Chisq     p_value 

----------------------------------------------------------------- 

      1  |  1.858    0.944     3.658      3.316      0.069 

      2  |  1.195    0.750     1.906      0.563      0.453 

      3  |  1.546    1.105     2.164      6.552      0.010 

      4  |  1.359    1.055     1.751      5.696      0.017 

      5  |  1.326    1.042     1.687      5.295      0.021 

Mantel–Haenszel estimate controlling for: agegp 

               RR    Lower      Upper     Chisq     p_value 

----------------------------------------------------------------- 

            1.377    1.192     1.589     19.169       0.000 

------------------------------------------------------------------ 

” ”

” ”

Mhrate all grade, e(y) by (smok) 

Maximum likelihood estimate of the rate ratio 

Comparing grade = 2 vs grade = 1 by smok 

 

RR estimate, lower and upper 95% confidence limits, 

and chi-squared test for RR = 1 (dgree of freedom) 
------------------------------------------------------------------ 

   smok  |     RR    Lower      Upper     Chisq     p_value 

----------------------------------------------------------------- 

      1  |  2.248    1.482     3.722      14.019      0.000 

      2  |  1.870    1.457     2.399      24.998      0.000 

      3  |  1.659    1.241     2.219      11.927      0.000 

      4  |  2.173    1.641     2.877      30.857      0.000 

      5  |  1.557    1.046     2.318       4.830      0.028 
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Mantel–Haenszel estimate controlling for: agegp 

               RR    Lower      Upper     Chisq     p_value 

----------------------------------------------------------------- 

            1.881    1.637     2.161     81.938       0.000 

------------------------------------------------------------------ 
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. table btvariabel, c( n bmi mean bmi sd bmi) 

 

---------------------------------------------- 

btvariabe | 

l         |     N(bmi)   mean(bmi)     sd(bmi) 

----------+----------------------------------- 

        0 |        310    25.67032    3.759436 

        1 |        377    27.09947      4.3578 

        2 |        316    28.27658    4.45190 

 
. anova bmi btvariabel 

 

                           Number of obs =    1003     R-squared     =  0.0567 

                           Root MSE      = 4.21316     Adj R-squared =  0.0548 

 

                  Source |  Partial SS    df       MS           F     Prob > F 

              -----------+---------------------------------------------------- 

                   Model |  1065.97523     2  532.987617      30.03     0.0000 

                         | 

              btvariabel |  1065.97523     2  532.987617      30.03     0.0000 

                         | 

                Residual |  17750.7336  1000  17.7507336    

              -----------+---------------------------------------------------- 

                   Total |  18816.7089  1002  18.7791506 

. oneway bmi  btvariabel, bon 

 

 

                       Comparison of BMI by btvariabel 

                                (Bonferroni) 

Row Mean-| 

Col Mean |          0          1 

---------+---------------------- 

       1 |    1.42915 

         |      0.000 

         | 

       2 |    2.60626    1.17711 

         |      0.000      0.001 
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. ttest bmi , by(blodtrycksmedicin) 

 

Two-sample t test with equal variances 

------------------------------------------------------------------------------ 

   Group |     Obs        Mean    Std. Err.   Std. Dev.   [95% Conf. Interval] 

---------+-------------------------------------------------------------------- 

       0 |     690     26.4642    .1581174    4.153406    26.15375    26.77465 

       1 |     317    28.27697    .2496482     4.44486    27.78579    28.76815 

---------+-------------------------------------------------------------------- 

combined |    1007    27.03486    .1363823    4.327855    26.76723    27.30248 

---------+-------------------------------------------------------------------- 

    diff |           -1.812769    .2881798               -2.378272   -1.247266 

------------------------------------------------------------------------------ 

    diff = mean(0) - mean(1)                                      t =  -6.2904 

Ho: diff = 0                                     degrees of freedom =     1005 

 

    Ha: diff < 0                 Ha: diff != 0                 Ha: diff > 0 

 Pr(T < t) = 0.0000         Pr(|T| > |t|) = 0.0000          Pr(T > t) = 1.0000 
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. anova bmi blodtrycksmedicin##sex 

 

                           Number of obs =    1007     R-squared     =  0.0398 

                           Root MSE      = 4.24718     Adj R-squared =  0.0369 

 

                  Source |  Partial SS    df       MS           F     Prob > F 

         ----------------+---------------------------------------------------- 

                   Model |  750.013564     3  250.004521      13.86     0.0000 

                         | 

             blodtryck~n |  714.738463     1  714.738463      39.62     0.0000 

                     sex |  12.7907162     1  12.7907162       0.71     0.4000 

         blodtryck~n#sex |  33.8982581     1  33.8982581       1.88     0.1707 

                         | 

                Residual |  18092.6931  1003  18.0385773    

         ----------------+---------------------------------------------------- 

                   Total |  18842.7066  1006  18.7303247   
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. anova  slutviktg ovx##pcb 

 

                           Number of obs =      38     R-squared     =  0.6922 

                           Root MSE      = 19.1304     Adj R-squared =  0.6651 

 

                  Source |  Partial SS    df       MS           F     Prob > F 

              -----------+---------------------------------------------------- 

                   Model |  27988.8947     3  9329.63158      25.49     0.0000 

                         | 

                     ovx |  13270.6118     1  13270.6118      36.26     0.0000 

                     pcb |  13914.3765     1  13914.3765      38.02     0.0000 

                 ovx#pcb |  3708.44706     1  3708.44706      10.13     0.0031 

                         | 

                Residual |       12443    34  365.970588    

              -----------+---------------------------------------------------- 

                   Total |  40431.8947    37  1092.75391 
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. sum  SBP70 SBP75 

 

    Variable |       Obs        Mean    Std. Dev.       Min        Max 

-------------+-------------------------------------------------------- 

       SBP70 |       335    139.8925    19.32949         84        200 

       SBP75 |       335    145.0597     19.2928         94        196 

 

. anova SBP lpnr year, repeated(year) 

 

                           Number of obs =     670     R-squared     =  0.8549 

                           Root MSE      = 10.4977     Adj R-squared =  0.7093 

 

                  Source |  Partial SS    df       MS           F     Prob > F 

              -----------+---------------------------------------------------- 

                   Model |  216775.799   335  647.091936       5.87     0.0000 

                         | 

                    lpnr |  212303.618   334  635.639575       5.77     0.0000 

                    year |   4472.1806     1   4472.1806      40.58     0.0000 

                         | 

                Residual |  36807.3194   334  110.201555    

              -----------+---------------------------------------------------- 

                   Total |  253583.118   669  379.048009    

” ”
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. ttest SBP70 = SBP75 

 

Paired t test 

------------------------------------------------------------------------------ 

Variable |     Obs        Mean    Std. Err.   Std. Dev.   [95% Conf. Interval] 

---------+-------------------------------------------------------------------- 

   SBP70 |     335    139.8925    1.056083    19.32949    137.8151    141.9699 

   SBP75 |     335    145.0597    1.054078     19.2928    142.9862    147.1332 

---------+-------------------------------------------------------------------- 

    diff |     335   -5.167164    .8111225    14.84598   -6.762717   -3.571612 

------------------------------------------------------------------------------ 

     mean(diff) = mean(SBP70 - SBP75)                             t =  -6.3704 

 Ho: mean(diff) = 0                              degrees of freedom =      334 

 

 Ha: mean(diff) < 0           Ha: mean(diff) != 0           Ha: mean(diff) > 0 

 Pr(T < t) = 0.0000         Pr(|T| > |t|) = 0.0000          Pr(T > t) = 1.0000 
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. anova SBP fet / lpnr|fet year year#fet ,repeated(year)      

 

                           Number of obs =     358     R-squared     =  0.8290 

                           Root MSE      = 11.0877     Adj R-squared =  0.6551 

 

                  Source |  Partial SS    df       MS           F     Prob > F 

              -----------+---------------------------------------------------- 

                   Model |  105491.268   180  586.062599       4.77     0.0000 

                         | 

                     fet |   865.11642     1   865.11642       1.50     0.2225 

                lpnr|fet |  102178.694   177  577.280755    

              -----------+---------------------------------------------------- 

                    year |  880.415893     1  880.415893       7.16     0.0081 

                year#fet |  36.7287419     1  36.7287419       0.30     0.5854 

                         | 

                Residual |  21760.0422   177  122.938092    

              -----------+---------------------------------------------------- 

                   Total |   127251.31   357  356.446247 
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. anova bmi blodtrycksmedicin sex c.age 

 

                           Number of obs =    1007     R-squared     =  0.0389 

                           Root MSE      = 4.24919     Adj R-squared =  0.0360 

 

                  Source |  Partial SS    df       MS           F     Prob > F 

             ------------+---------------------------------------------------- 

                   Model |  732.958396     3  244.319465      13.53     0.0000 

                         | 

             blodtryck~n |  723.189273     1  723.189273      40.05     0.0000 

                     sex |  .116676093     1  .116676093       0.01     0.9359 

                     age |  16.8430904     1  16.8430904       0.93     0.3344 

                         | 

                Residual |  18109.7482  1003  18.0555815    

             ------------+---------------------------------------------------- 

                   Total |  18842.7066  1006  18.7303247 

 
. reg bmi  blodtrycksmedicin sex age 

 

      Source |       SS       df       MS              Number of obs =    1007 

-------------+------------------------------           F(  3,  1003) =   13.53 

       Model |  732.958396     3  244.319465           Prob > F      =  0.0000 

    Residual |  18109.7482  1003  18.0555815           R-squared     =  0.0389 

-------------+------------------------------           Adj R-squared =  0.0360 

       Total |  18842.7066  1006  18.7303247           Root MSE      =  4.2492 

 

------------------------------------------------------------------------------ 

         bmi |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval] 

-------------+---------------------------------------------------------------- 

blodtrycks~n |   1.827085   .2886945     6.33   0.000     1.260571    2.393599 

         sex |  -.0237347   .2952559    -0.08   0.936    -.6031249    .5556554 

         age |   .0025298   .0026193     0.97   0.334    -.0026101    .0076696 

       _cons |   26.33331   .2266148   116.20   0.000     25.88862    26.77801 

------------------------------------------------------------------------------ 
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. reg hdl bmi 

 

      Source |       SS       df       MS              Number of obs =    1013 

-------------+------------------------------           F(  1,  1011) =   91.65 

       Model |  15.3271454     1  15.3271454           Prob > F      =  0.0000 

    Residual |  169.083058  1011  .167243381           R-squared     =  0.0831 

-------------+------------------------------           Adj R-squared =  0.0822 

       Total |  184.410203  1012  .182223521           Root MSE      =  .40895 

 

------------------------------------------------------------------------------ 

         hdl |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval] 

-------------+---------------------------------------------------------------- 

         bmi |  -.0284277   .0029695    -9.57   0.000    -.0342549   -.0226006 

       _cons |   2.280447   .0813187    28.04   0.000     2.120874     2.44002 

------------------------------------------------------------------------------ 
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. gen bmibtmed=blodtrycksmedicin*bmi 

 

. reg SBP blodtrycksmedicin bmi bmibtmed 

 

      Source |       SS       df       MS              Number of obs =    1003 

-------------+------------------------------           F(  3,   999) =   52.63 

       Model |  70250.1851     3  23416.7284           Prob > F      =  0.0000 

    Residual |  444477.789   999  444.922712           R-squared     =  0.1365 

-------------+------------------------------           Adj R-squared =  0.1339 

       Total |  514727.974  1002  513.700573           Root MSE      =  21.093 

 

------------------------------------------------------------------------------ 

         SBP |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval] 

-------------+---------------------------------------------------------------- 

blodtrycks~n |   37.12588   9.235948     4.02   0.000     19.00179    55.24996 

         bmi |   .9933639   .1937271     5.13   0.000     .6132053    1.373523 

    bmibtmed |   -.796501   .3298427    -2.41   0.016    -1.443765   -.1492371 

       _cons |   118.3265   5.187769    22.81   0.000     108.1463    128.5067 

------------------------------------------------------------------------------ 
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. reg y x 

 

      Source |       SS       df       MS              Number of obs =      10 

-------------+------------------------------           F(  1,     8) =   45.31 

       Model |  10114.1941     1  10114.1941           Prob > F      =  0.0001 

    Residual |  1785.80591     8  223.225739           R-squared     =  0.8499 

-------------+------------------------------           Adj R-squared =  0.8312 

       Total |       11900     9  1322.22222           Root MSE      =  14.941 

 

------------------------------------------------------------------------------ 

           y |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval] 

-------------+---------------------------------------------------------------- 

           x |    1.01051   .1501229     6.73   0.000     .6643258    1.356694 

       _cons |   18.34192    9.26649     1.98   0.083    -3.026643    39.71049 

------------------------------------------------------------------------------ 

 

. gen x2=x*x 

 

. reg y x x2 

 

      Source |       SS       df       MS              Number of obs =      10 

-------------+------------------------------           F(  2,     7) =  320.57 

       Model |  11771.4783     2  5885.73916           Prob > F      =  0.0000 

    Residual |  128.521683     7  18.3602405           R-squared     =  0.9892 

-------------+------------------------------           Adj R-squared =  0.9861 

       Total |       11900     9  1322.22222           Root MSE      =  4.2849 

 

------------------------------------------------------------------------------ 

           y |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval] 

-------------+---------------------------------------------------------------- 

           x |   2.429911   .1554783    15.63   0.000     2.062263    2.797558 

          x2 |  -.0141462    .001489    -9.50   0.000     -.017667   -.0106254 

       _cons |  -3.129848   3.488582    -0.90   0.399    -11.37903    5.119337 

------------------------------------------------------------------------------ 
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. reg SBP bmi hdl 

 

      Source |       SS       df       MS              Number of obs =    1009 

-------------+------------------------------           F(  2,  1006) =   21.94 

       Model |  21491.0065     2  10745.5032           Prob > F      =  0.0000 

    Residual |  492796.135  1006  489.856993           R-squared     =  0.0418 

-------------+------------------------------           Adj R-squared =  0.0399 

       Total |  514287.142  1008  510.205498           Root MSE      =  22.133 

 

------------------------------------------------------------------------------ 

         SBP |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval] 

-------------+---------------------------------------------------------------- 

         bmi |   1.110137   .1680023     6.61   0.000     .7804615    1.439812 

         hdl |   2.516823   1.706802     1.47   0.141    -.8324772    5.866123 

       _cons |   115.8778   5.876796    19.72   0.000     104.3457      127.41 

------------------------------------------------------------------------------ 
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. pwcorr lvmim27 SBP DBP bmi kn ldl hdl diabetes 

 

             |  lvmim27      SBP      DBP      bmi       kn      ldl      hdl 

-------------+--------------------------------------------------------------- 

     lvmim27 |   1.0000  

         SBP |   0.3583   1.0000  

         DBP |   0.2579   0.5963   1.0000  

         bmi |   0.4764   0.1990   0.2517   1.0000  

          kn |  -0.0751   0.1620  -0.0637   0.0102   1.0000  

         ldl |  -0.1057   0.0873   0.0780  -0.0364   0.1607   1.0000  

         hdl |  -0.2104  -0.0141  -0.0813  -0.2883   0.3533   0.0951   1.0000  

    diabetes |   0.1999   0.0591  -0.0020   0.1533  -0.0549  -0.2227  -0.1398 

 
. reg lvmim27 SBP  bmi kn ldl hdl diabetes 

 

      Source |       SS       df       MS              Number of obs =     908 

-------------+------------------------------           F(  6,   901) =   78.10 

       Model |  54114.7752     6   9019.1292           Prob > F      =  0.0000 

    Residual |  104047.704   901  115.480249           R-squared     =  0.3421 

-------------+------------------------------           Adj R-squared =  0.3378 

       Total |  158162.479   907  174.379801           Root MSE      =  10.746 

 

------------------------------------------------------------------------------ 

     lvmim27 |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval] 

-------------+---------------------------------------------------------------- 

         SBP |   .1743452   .0163547    10.66   0.000     .1422474     .206443 

         bmi |   1.273197   .0935793    13.61   0.000     1.089538    1.456856 

          kn |  -2.360415   .7856236    -3.00   0.003     -3.90228   -.8185496 

         ldl |  -1.263339   .4236189    -2.98   0.003    -2.094734   -.4319448 

         hdl |  -1.150226   .9449237    -1.22   0.224    -3.004734    .7042814 

    diabetes |   5.527854   1.339811     4.13   0.000      2.89834    8.157367 

       _cons |  -10.37007   3.873624    -2.68   0.008    -17.97244   -2.767693 

------------------------------------------------------------------------------ 
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. logistic blodtrycksmedicin fet 

 

Logistic regression                               Number of obs   =       1007 

                                                  LR chi2(1)      =      32.69 

                                                  Prob > chi2     =     0.0000 

Log likelihood =  -610.8975                       Pseudo R2       =     0.0261 

 

------------------------------------------------------------------------------ 

blodtrycks~n | Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval] 

-------------+---------------------------------------------------------------- 

         fet |   2.460323   .3848303     5.76   0.000     1.810722     3.34297 

------------------------------------------------------------------------------ 

 
. logistic blodtrycksmedicin fet sex hdl triglycerider 

 

Logistic regression                               Number of obs   =       1003 

                                                  LR chi2(4)      =      56.15 

                                                  Prob > chi2     =     0.0000 

Log likelihood = -596.87838                       Pseudo R2       =     0.0449 

 

------------------------------------------------------------------------------ 

blodtrycks~n | Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval] 

-------------+---------------------------------------------------------------- 

         fet |   2.109499   .3439964     4.58   0.000     1.532406    2.903922 

         sex |   1.091649   .1672275     0.57   0.567      .808517     1.47393 

         hdl |   .6029421   .1256408    -2.43   0.015     .4007768    .9070863 

triglyceri~r |   1.429991    .174636     2.93   0.003     1.125593    1.816709 

------------------------------------------------------------------------------ 
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. xtile q5triglycerider=triglycerider, nq(5) 

. logistic blodtrycksmedicin fet sex hdl i.q5triglycerider 

 

Logistic regression                               Number of obs   =       1003 

                                                  LR chi2(7)      =      64.40 

                                                  Prob > chi2     =     0.0000 

Log likelihood = -592.75298                       Pseudo R2       =     0.0515 

 

------------------------------------------------------------------------------ 

blodtrycks~n | Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval] 

-------------+---------------------------------------------------------------- 

         fet |    2.08759     .34126     4.50   0.000       1.5153    2.876019 

         sex |   1.052932    .162835     0.33   0.739     .7776118    1.425732 

         hdl |   .6784995    .145413    -1.81   0.070     .4457833    1.032702 

             | 

q5triglyce~r | 

          2  |   1.219007   .3024881     0.80   0.425     .7495255    1.982558 

          3  |   1.965718    .473678     2.80   0.005     1.225766    3.152353 

          4  |    1.66105   .4107058     2.05   0.040     1.023099    2.696796 

          5  |   2.418759    .607075     3.52   0.000     1.478948    3.955783 

------------------------------------------------------------------------------ 
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. ologit btvariabel fet sex hdl triglycerider, or 

 

 

Ordered logistic regression                       Number of obs   =        999 

                                                  LR chi2(4)      =      67.52 

                                                  Prob > chi2     =     0.0000 

Log likelihood = -1059.4289                       Pseudo R2       =     0.0309 

 

------------------------------------------------------------------------------ 

  btvariabel | Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval] 

-------------+---------------------------------------------------------------- 

         fet |   2.114692   .3159823     5.01   0.000     1.577824    2.834234 

         sex |   1.234761   .1579212     1.65   0.099     .9609871     1.58653 

         hdl |   .7461346   .1226832    -1.78   0.075     .5405779    1.029855 

triglyceri~r |   1.520494    .169043     3.77   0.000     1.222788     1.89068 

-------------+---------------------------------------------------------------- 

       /cut1 |  -.4986584   .3209837                     -1.127775    .1304581 

       /cut2 |   1.176781   .3229756                      .5437603    1.809801 

------------------------------------------------------------------------------ 
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